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0.09-m
. f ¥ E 0 0¥5 mc- diameter
The specific gravity of the manometer fluid shown in il S
Fig. P3.70 is 1.07. Determine, the volume flowrate, Q, if the = ==y
flow is inviscid and incompressible and the flowing fluid is f 7T
(a) water, (b) gasoline, or (c) air at standard conditions. 10 mm ﬂnm: h
%

FIGURE P3.7¢0

2 2
é’-'f“zv‘?‘*zl ='§é +—Z§+Zz' Wée/‘e Z, =2, and V2=0
Thus, .

But
LI+, h = + Y (L +h)
PP =B~ o that Eq () becomes . ]
L ' A 3
= g Taz20) < [2 (0.012) (LLCEETD orr
Thus, .
P |
Y=AY) =30, = Flooany |2 (s81) (L5222 -1 )o.22)
or

= 3
Q= 8.99x/07 LG - M pery o Bl

For the gjven flvids #4s gives:

3
fid | 0,44 | g,
@  water | 980 /06 X)o~
(b gaso/l'ne 6.67 3.02 x /073

(c) ar /2x)0° 2 0.//8
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